
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(vDVwcj eSx”khu tk¡p ijh{kk)
fnukad& 14.10.2018

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fgUnh vkSj vaxzsth Nik gSA izR;sd iz'uka'k esa 
pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs gSaA 
;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	yksdiky vfèkfu;e ds lanHkZ easa fuEufyf[kr dFkuksa  ij 
fopkj dhft;s% 

	 1.	 blds rgr yksdiky ds vè;{k dh fu;qfDr ,d 
p;u lfefr dh fliQkfj'kksa ds vkèkkj ij jk"Vªifr 
}kjk dh tkrh gSA

	 2.	 blds vuqlkj yksdiky dk vè;{k ik¡p o"kZ ;k 
lÙkj o"kZ dh vk;q ds fy;s fu;qDr fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 2.	gky gh eas loksZPp U;k;ky; }kjk fu.kZ; fy;k x;k fd 

tsyksa esa gksus okyh vR;fèkd HkhM+ vkSj blls fuiVus ds 
mik;ksa lfgr vU; leL;kvksa dh tk¡p ds fy;s ,d 
lfefr dk xBu fd;k tk,xk] ftldk vè;{k  
fuEufyf[kr esa ls dkSu gksxk\

	 (a)	 lsokfuo`Ùk U;k;kèkh'k	
	 (b)	 mPp U;k;ky; ds fuorZeku U;k;kèkh'k

	 (c)	 fofèk vk;ksx ds lsokfuo`Ùk vè;{k

	 (d)	 mi;qZDr esa ls dksbZ ughaA
	 3.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 U;k;ewfrZ vkj-,e- yks<+k lfefr us ̂ ,d jkT;&,d 
er* dh fliQkfj'k dh FkhA

	 2.	 Hkkjrh; fØdsV daVªksy cksMZ Hkkjr esa fØdsV ds 
fy;s v¼ZU;kf;d fudk; gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 4.	^iwoksZÙkj lfdZV fodkl% baiQky vkSj [kksaxtksax* ifj;kstuk 

ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Lons'k n'kZu ;kstuk ds varxZr 'kq: dh tkus 
okyh ;g igyh ifj;kstuk gSA

	 2.	 bl ifj;kstuk esa nks LFkyksa& dkaxyk iQksVZ rFkk 
[kksaxtksax dks doj fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 5.	fnokyk vkSj 'kksèku v{kerk lafgrk (la'kksèku) foèks;d 

ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g la'kksèku ?kj [kjhnus okyksa dks foÙkh; ysunkj 
ds :i esa ekU;rk nsdj mUgsa jkgr iznku djrk gSA

	 2.	 bl foèks;d ds vuqlkj fdlh Hkh fj;y ,LVsV 
izkstsDV ds izkIrdÙkkZvksa dks foÙkh; ysunkj le>k 
tk,xkA

	 1.	 Consider the following statements in the context 
of the Lokpal Act:

       	 1. 	The Lokpal chairperson is appointed by the 
President on the basis of recommendations 
of a Selection Committee under this Act.

	 2. 	According to it the Lokpal is appointed for 
the 	term of five years or till seventy years of 
age.

       		 Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 2.	 It was recently decided by the Supreme Court that 
a committee will be constituted to find the solutions 
to deal with the excessive crowd in the jails along 
with the investigation of other problems. Who 
among the following will be its chairman? 

	 (a)	 Retired judge
	 (b)	 Sitting judge of high court
	 (c)	 Retired chairman of the Law Commission
	 (d)	 None of the above.

	 3.	 Consider the following statements:
	         1. 	Justice R. M. Lodha Committee had 

recommended 'one state-one vote'.
        	 2. 	The Board of Control For Cricket In India is 

the quasi-judicial body for cricket in India.

        	Which of the statements given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 4.	 Consider the following statements in the context 
of 'North-east Circuit Development: Imphal and 
Khongjom' project:

        	 1.		 This is the first project to be started under 
Swadesh Darshan scheme.

	         2. 	Two sites i.e. Kangla Fort and Khongjom 
have been covered under this project.

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 5.	 Consider the following statements in the context 
of the Insolvency and Bankruptcy Code 
(Amendment) Bill:

	        1.	 This amendment recognizes the buyer as 
a financial creditor and provides relief to 
them.

       	 2. 	According to this bill the recipients of any 
real estate project will be considered as 
financial creditors.
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	 3.	 bulkWYosalh og fLFkfr gS] tc O;fDr ;k daifu;k¡ 
viuk cdk;k Í.k ugha pqdk ikrsA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 6.	Hkz"Vkpkj jksdFkke (la'kksèku) foèks;d ds lanHkZ eas 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g foèks;d dsoy fj'or ysus okyksa dks nafMr 
djus dk izkoèkku djrk gSA

	 2.	 ;g foèks;d vkijkfèkd nqO;Zogkj dks Hkh 
iquiZfjHkkf"kr djrk gSA 

	 3.	 vc bleas dsoy laifÙk ds nq#i;ksx vkSj vleku 
laifÙk ds vkèkkj dks 'kkfey fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 7.	O;fDrxr MkVk laj{k.k fcy] 2018 ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fMftVy nqfu;k eas O;fDrxr MkVk dks lqjf{kr 
djus ds fy;s tqykbZ 2017 eas U;k;ewfrZ JhÑ".k 
dh vè;{krk esa 10 lnL;h; lfefr xfBr dh 
xbZ FkhA

	 2.	 bl foèks;d esa O;fDrxr tkudkjh ds nq#i;ksx 
dks jksdus gsrq dsoy ,d MkVk izksVsD'ku vFkkWfjVh 
dh LFkkiuk dh fliQkfj'k dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 8.	ijØkE; fy[kr foèks;d ds lanHkZ eas fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 psd ckmal ds ekeyksa esa f'kdk;rdÙkkZ dks 
eqvko”kk eqgS;k djkus gsrq bl foèks;d dks yk;k 
x;k gSA

	 2.	 blls eqdnesck”kh ds ekeyksa esa deh vk,xh rFkk 
psd vkSj cSafdax iz.kkyh dks ysdj fo'oluh;rk 
?kVsxhA

	 3.	 bl foèks;d ds }kjk èkkjk 143(,) dk lekos'ku 
fd;k x;k gS ftlesa vihy djus okys i{k dks 
C;kt nsus dk izkoèkku gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3

	        3. 	Insolvency is a situation where individuals 
or companies cannot repay their outstanding 
debts.

		  Which of the statements given above is/are correct?
	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 6.	 Consider the following statements in the context 
of the Prevention of Corruption (Amendment) Bill:

	         1.		 This bill only provisions to provide the 
punishment for the person who takes bribe.

	 2. 	This bill redefines criminal misconduct also.
	 3. 	Only the bases of misappropriation of 

property and disproportionate assets have 
been included in it now.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 7.	 Consider the following statements in the context 
of the Personal Data Protection Bill, 2018:

	         1.	 A 10-member committee was constituted 
under the chairmanship of Justice Shri 
Krishna in July 2017 in order to secure 
personal data in the digital world.

	          2.	 It has been recommended to establish 
only Data Protection Authority in order to 
prevent the misuse of personal information 
under this bill.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 8.	 Consider the following statements in the context 
of Negotiable Instruments Bill:

	        1.	 This bill has been introduced to provide 
compensation to the complainant in cheque 
bounce cases.

      	  2. 	This will reduce the number of litigation 
and reduce the reliability of the cheque and 
banking system.

	        3. 	Section 143 (A) has been incorporated 
under this bill, which provides the provision 
of interest to the appellant.

		  Which of the statements given above is/are correct?
	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3
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	 9.	vkijkfèkd dkuwu (la'kksèku) foèks;d] 2018 ds lanHkZ 
eas fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g foèks;d cykRdkj ds ekeyksa esa iQk¡lh dh 
l”kk dks de djus ls lacafèkr gSA

	 2.	 bl foèks;d ds vuqlkj] cykRdkj ds ekeyksa esa 
naM ds iSQlys ds f[kykiQ fdlh Hkh vihy dh 
lquokbZ 6 eghus ds Hkhrj iwjh gksuh pkfg;sA

	 3.	 blds vuqlkj 16 o"kZ ls de mez dh ukckfyx 
yM+dh ds lkFk dsoy cykRdkj ij vfxze tekur  
dk izkoèkku ykxw gksxk] lkewfgd cykRdkj ij 
ughaA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 3
	 10.	jk"Vªh; [ksy fo'ofo|ky; foèks;d] 2018 ds lanHkZ eas 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl foèks;d ds }kjk jk"Vªh; [ksy fo'ofo|ky; 
dk eq[;ky; fe”kksje esa gksxkA

	 2.	 bl foèks;d ds vuqlkj fo'ofo|ky; fiQftdy 
,tqds'ku bR;kfn ds {ks=k esa varjkZ"Vªh; Lrj ij 
lg;ksx nsxkA 

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2 
	 11.	jk"Vªh; fiNM+k oxZ vk;ksx ds lanHkZ eas fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 lafoèkku dk 123ok¡ (la'kksèku) foèks;d bl 
vk;ksx dks lkafofèkd ntkZ nsrk gSA

	 2.	 ;g jk"Vªh; fiNM+k oxZ vk;ksx vfèkfu;e] 1993 
ds rgr xfBr fd;k x;k gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 12.	Hkwfe jkf'k iksVZy ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 bl iksVZy dks lM+d ifjogu vkSj jktekxZ ea=kky; 
rFkk jk"Vªh; lwpuk dasnz us feydj rS;kj fd;k 
gSA

	 2.	 ;g Hkwfe ifj;kstuk ds fy;s Hkwfe vfèkxzg.k dh 
izfØ;k dks ljy cuk,xkA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 9.	 Consider the following statements in the context 
of Criminal Law (Amendment) Bill, 2018:

        	 1.		 The bill is related to reducing the sentence 
of death in rape cases.

	 2.	 According to this bill, the hearing of any 
appeal against the sentence of rape should 
be disposed off within 6 months of filing.

	        3.		 According to this, the provision of 
anticipatory bail will be applicable only in 
the cases of rape with a minor girl under the 
age of 16 years and not in the cases of gang 
rape.

        	Which of the statements given above is/are correct?
	 (a)	 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 3 only

	 10.	 Consider the following statements in the context 
of the National Sports University Bill, 2018:

	         1.	 The Bill will provide the establishment 
of Headquarter of the National Sports 
University in Mizoram.

        	 2. 	According to this bill, the university will 
provide support at the international level in 
the field of physical education etc.

         	Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 11.	 Consider the following statements in the context 
of National Backward Class Commission:

	 1. 	The 123rd (amendment) Bill of the 
Constitution gives statutory status to this 
commission.

	 2. 	It is constituted under the National Backward 
Classes Commission Act, 1993.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 12.	 Consider the following statements in the context 
of the Land Acquisition Portal:

	        1.	 This portal has been prepared jointly by the 
Ministry of Road Transport and Highways 
and National Information Centre.

	 2.	 This will facilitate land acquisition process 
for land project.

        	Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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 13.		fuEufyf[kr dFkukas ij fopkj dhft;s%
	 1.	 vkokl ,oa 'kgjh ekeys ds ea=kky; us thou 

lqxerk lwpdkad tkjh fd;k gSA

	 2.	 yksd foÙk izcaèku iz.kkyh (ih,iQ,e,l) ,d 
osc vkèkkfjr vkWuykbu lkWÝVos;j ,Iyhds'ku gS 
ftldk fodkl rFkk dk;kZUo;u Hkkjr ds 
egkfu;a=kd ys[kk dk;kZy; }kjk fd;k tk jgk gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2 
	 14.	,d xk¡o dks vkn'kZ xk¡o ds :i eas ?kksf"kr gksus ds fy;s 

fuEufyf[kr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 1.	 lkoZHkkSfed o;Ld lk{kjrk

	 2.	 cPpksa dk iw.kZ Vhdkdj.k 

	 3.	 xk¡o esa tUe vkSj e`R;q dk 50% iathdj.kA

	 4-	 2012 rd f'k'kq e`R;q nj dks (izfr g”kkj thfor 
tUeksa ij) 20 rd vkSj ekr` e`R;q nj dks (izfr 
yk[k) 50 rd de djukA 

	 	dwV%

	 (a)	 dsoy 4	 (b)	 dsoy 3 vkSj 4
	 (c)	 dsoy 1] 2 vkSj 3	 (d)	 dsoy 1 vkSj 2
	 15.	LFkkuh; {ks=k ;kstuk@'kgjh fu;kstu ;kstuk ds lanHkZ eas 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bl ;kstuk dks ^ve`r* ds rgr rS;kj fd;k x;k 

gS] rkfd Øe'k% czkmuiQhYM vkSj xzhuiQhYM {ks=kksa 
esa cqfu;knh <k¡pkxr lqfoèkkvksa dks fodflr djus 
ds fy;s leqfpr fu;kstu lqfuf'pr fd;k tk 
ldsA

	 2.	 bu ;kstukvksa dks izk;ksfxd vkèkkj ij 50 'kgjksa 
esa fØ;kfUor fd;k tk,xkA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2 
	 16.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjr oSf'od uokpkj lwpdkad 2018 esa 57osa 

ik;nku ij igq¡p x;k gSA

	 2.	 ÅtkZ n{krk C;wjks vkSj uhfr vk;ksx }kjk tkjh 
jkT;ksa ds ÅtkZ n{krk rRijrk lwpdkad ds vuqlkj] 
vkaèkz izns'k ÅtkZ n{krk ds {ks=k esa izFke LFkku 
ij gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2 

	 13.	 Consider the following statements:
      	 1.	 Ministry of Housing and Urban Affairs has 

released Ease of Living Index.
	         2.	 Public Finance Management System 

(PFMS) is a web based online software 
application that is being developed and 
implemented by the office of Comptroller 
and Auditor of India.

        	Which of the statements given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 14.	 Which of the following correct ingredients is / are 
essential for declaring a village as an ideal village?

	 1. 	Universal Adult Literacy
	 2. 	Complete vaccination of children
	 3.	 50% registration of birth and death in the 

village.
	 4. 	Reduce child mortality rate (per thousand 

live births) up to 20 and maternal mortality 
rate (per lakh) up to 50 by 2012.

		  Code:
	 (a)	 4 only	 (b)	 3 and 4 only
	 (c)	 1, 2 and 3 only	 (d)	 1 and 2 only

	 15.	 Consider the following statements in the context 
of the Local Area Planning / Urban Area Planning:

	 1. 	This scheme has been prepared under 
'AMRUT', so that proper planning can be 
ensured to develop basic infrastructure 
facilities in Brownfield and Greenfield areas 
respectively.

	 2. 	These schemes will be implemented in 50 
cities on an experimental basis.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 16.	 Consider the following statements:
	 1. 	India has secured 57th rank in the Global 

Innovation Index in 2018.
	         2. 	According to the 'Energy Efficiency 

Implementation of Readiness Index' of 
States released by the Energy Efficiency 
Bureau and the NITI Aayog, Andhra 
Pradesh holds top position in the field of 
energy efficiency.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 17.	oSf'od thou {kerk lwpdkad&2018 ds lanHkZ eas 
fuEufyf[kr eas ls dkSu&lk dFku lgh ugha gS\

	 (a)	 bl lwpdkad eas lhfj;k dh jktèkkuh nfe'd 
lcls fupys LFkku ij gSA

	 (b)	 bl lwpdkad esa Hkkjr dh jktèkkuh fnYyh dks 
112ok¡ vkSj eqacbZ dks 117ok¡ LFkku izkIr gqvk gSA

	 (c)	 igyh ckj ,slk gqvk gS tc fdlh ;wjksih; 'kgj 
gaxjh dks bl lwpdkad esa 'kh"kZ LFkku gkfly gqvk 
gSA

	 (d)	 ;g lwpdkad bdksukWfeLV baVsfytsal ;wfuV }kjk 
tkjh fd;k x;k gSA

	 18.	^ewo gSd* ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 blesa dsoy Hkkjr vkSj vesfjdh ns'kksa ds ukxfjd 
gh Hkkx ys ldrs gSaA

	 2.	 bldk mn~ns'; xfr'khyrk ls lacafèkr leL;kvksa 
ds fy;s vfHkuo] xfr'khy vkSj ekiuh; lekèkku 
iznku djuk gSA 

	 3.	 bls nks Lrjksa ^tLV dksM bV* vkSj ^tLV lkYo 
bV* izkS|ksfxdh ij lapkfyr fd;k tk,xkA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3
	 19.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 LekVZ flVh fe'ku dh 'kq#vkr 25 twu] 2015 
dks gqbZ FkhA

	 2.	 flVh”k pSysat izfØ;k dks uhfr vk;ksx ds 
fn'kk&funsZ'kksa ds vuq:i ifj;kstuk ds fØ;kUo;u 
ds fy;s vey esa yk;k tk jgk gSA

	 3.	 oSf'od uokpkj lwpdkad&2018 esa dqy 126 
ns'kksa dks mudh uokpkj {kerk vkSj ifj.kkeksa ds 
vuqlkj jSafdax iznku dh xbZ gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	 20.	foiks dkWihjkbV_ foiks ijiQkWjesal vkSj iQksuksxzke lafèk ds 

lanHkZ eas fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldk mn~ns'; okf.kfT;d mi;ksx ds ”kfj;s 
ckSf¼d laink dkuwu (vkbZihvkj) dk ykHk izkIr 
djuk gSA

	 2.	 bu lafèk;ksa ds varxZr dsoy baVjusV 'kkfey gS 
fMftVy dkWihjkbV ughaA

	 17.	 Which of the following statements is not correct 
in the context of Global Liveability Index- 2018?

	 (a)	 Damascus, the capital of Syria, holds the 
lowest place in this index.

	 (b)	 In this index, the capital city of India, Delhi 
has secured 112th rank and Mumbai is 
ranked 117th.

	 (c)	 For the first time a European city i.e. 
Hungary has secured the top rank in this 
index.

	 (d)	 This index has been issued by the Economist 
Intelligence Unit.

	 18.	 Consider the following statements in the context 
of 'Move Hack':

	 1. 	Only the citizens of India and America 
countries can participate in this.

	 2. 	Its aim is to provide innovative, dynamic and 
scalable solutions to problems pertaining to 
mobility. 

	 3. 	It will be operated on two levels 'Just Code 
It' and 'Just Solve It' technology.

		  Which of the statements given above is/are the 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 19.	 Consider the following statements:
	 1. 	Smart City Mission was launched on June 

25, 2015.
	 2. 	Citi's Challenge process is being 

implemented for the project in line with the 
guidelines of the NITI Aayog.

	 3. 	A total of 126 countries have been ranked 
as per their innovation capacity and their 
outcomes on the Global Innovation Index -2018.

      Which of the statements given above is/are the 
correct?

	 (a)	 3 only	 (b)	 2 and 3 only
	 (c)	 2 only	 (d)	 1, 2 and 3

	 20.	 Consider the following statements in the context 
of the WIPO Copyright; WIPO Performance and 
Phonogram Treaty:

	 1.	 Its purpose is to get the benefit of Intellectual 
Property Rights Laws (IPR Laws) through 
commercial use.

         2. These treaties only include Internet and not 
digital copyright.
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	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 21.	,dhÑr Hkqxrku baVjisQl 2.0 ds lanHkZ eas fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 gky gh esa bls Hkkjrh; fj”koZ cSad us ykWUp 
fd;k gSA

	 2.	 blesa mUur lqj{kk ds lkFk vksojMªkÝV [kkrs dks 
tksM+us dh lqfoèkk iznku dh xbZ gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 22.	,dhÑr Hkqxrku iz.kkyh (;wihvkbZ) ds lanHkZ eas 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g ^ih;j Vw ih;j* vuqjksèk dks iwjk djrh gS]
ftls vko';drk vkSj lqfoèkk ds vuqlkj fuèkkZfjr 
dj] Hkqxrku fd;k tk ldrk gSA

	 2.	 ;wihvkbZ dk igyk laLdj.k vizSy 2016 esa ykWUp 
fd;k x;k FkkA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 23.	eqnzkLiQhfr ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s% 

	 1.	 vR;fèkd eqnzkLiQhfr vFkZO;oLFkk ds fy;s 
ykHknk;d gksrh gSA

	 2.	 2 ls 3 izfr'kr dh eqnzkLiQhfr dh nj vFkZO;oLFkk 
ds fy;s mfpr gksrh gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 24.	pkyw [kkrk ?kkVk ds lanHkZ eas fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 Hkkjr dk ;g ?kkVk foÙk o"kZ 2017-18 ds nkSjku 
1.5% FkkA

	 2.	 #i, ds ewY; esa fxjkoV Hkkjr ds ekStwnk pkyw 
[kkrk ?kkVs dks n'kkZrk gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	

	 (d)	 u rks 1 vkSj u gh 2

		  Which of the statements given above is/are the 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 21.	 Consider the following statements in the context 
of the Integrated Payment Interface 2.0:

	 1. 	It was launched by the Reserve Bank of 
India recently.

	 2. 	It provides the facility to add overdraft 
account with advanced security.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 22.	 Consider the following statements in the context 
of the Unified Payment System (UPI):

	      1.	 It completes the 'peer to peer' request, which 
can be determined and paid according to the 
requirement and convenience.

	          2.	 The first version of the UPI was launched in 
April 2016.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 23.	 Consider the following statements in the context 
of Inflation:

	 1. 	High inflation is beneficial for the economy.
	         2. 	Inflation rate of 2 to 3 percent is reasonable 

for the economy.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 24.	 Consider the following statements in the context 
of the Current Account Deficit:

	 1. 	The Current Account Deficit for India 
during the financial year 2017-18 was 1.5%.

	 2. 	The devaluation of rupee reflects prevailing 
Current Account Deficit of India.

        	Which of the statements given above is/are correct?
	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2	
	 (d)	 Neither 1 nor 2
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	 25.	#i, ds ewY; esa fxjkoV dk izHkko ds lanHkZ eas 
fuEufyf[kr esa ls dkSu&lk dFku lgh ugha gS\

	 (a)	 rsy dk vk;kr eg¡xk gksxk ftlds pyrs Hkkjr esa 
eg¡xkbZ nj de gksus dh laHkkouk gSA

	 (b)	 c<+h gqbZ eg¡xkbZ nj dk vlj cqfu;knh rFkk vU; 
vkèkkjHkwr lajpukvksa ij iM+sxkA

	 (c)	 #i, dk ewY; fxjus ds dkj.k Hkkjrh; oLrqvksa 
rFkk lsokvksa dh fu;kZr izfrLi¼kZ eas lqèkkj gksxkA

	 (d)	 bldk lcls vfèkd ykHk fu;kZr djus okyh 
vkbZVh daifu;ksa dks feysxkA

	 26.	ewMh”k bUosLVlZ lfoZl ds lanHkZ eas fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g ewMh”k dkWjiksjs'ku dh ckW.M&ØsfMV dh jsfVax 
djus okyh daiuh gSA

	 2.	 bldh LFkkiuk 1909 eas tkWu ewMh }kjk LVkWd] 
ckW.M rFkk ckW.M jsfVax ls lacafèkr lkaf[;dh dk 
eSuqvy cukus ds fy;s dh xbZ FkhA

	 3.	 ewMh”k dh fuos'kd lsok okf.kfT;d vkSj ljdkjh 
laLFkkvksa ds }kjk tkjh fd;s x, ckW.Mksa ij 
varjkZ"Vªh; foÙkh; vuqlaèkku dk dk;Z djrh gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 27.	jk"Vªh; Ñf"k vkSj xzkeh.k fodkl cSad (ukckMZ) }kjk 

gky gh esa fd;s x, ,d losZ{k.k ds lanHkZ eas fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ns'k eas vkèks&ls&vfèkd Ñ"kd ifjokjksa ij Í.k 
cdk;k gS vkSj mudk vkSlr cdk;k Í.k muds 
vkSlr okf"kZd vk; dh rqyuk esa de gSA

	 2.	 losZ{k.k esa Í.k] cpr] fuos'k] isa'ku] chek vkSj 
izs"k.k lfgr foÙkh; lekos'ku ds lHkh igyqvksa 
dks 'kkfey fd;k x;k gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	 28.	ukckMZ ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g dsoy Ñf"k fodkl ds fy;s ,d 'kh"kZ cSad 

gSA

	 2.	 bldh LFkkiuk f'kojeu lfefr dh fliQkfj'kksa ds 
vkèkkj ij laln ds ,d vfèkfu;e }kjk 12 tqykbZ 
1982 dks dh xbZ FkhA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	 25.	 Which of the following statements is not correct 
in the context of the effect of the devaluation of rupee?

	 (a)	 Oil imports would be expensive, because of 
which there is a possibility of low inflation 
rates in India.

	 (b)	 The increased inflation rate will affect the 
basic and other fundamental infrastructures.

	 (c)	 Due to the declining value of rupee, the 
export competitiveness of Indian goods and 
services will improve.

	 (d)	 The most of the benefits of this will be taken 
by IT exporting companies.

	 26.	 Consider the following statements in the context 
of Moody's Investors Service:

	         1. 	This is a bond-credit rating company of 
Moody's Corporation.

	 2. 	It was established by John Moody in 1909 to 
make a manual of statistics related to stock, 
bond and bond rating.

	 3.	 Moody's investor service conducts 
international financial research on bonds 
issued by commercial and government 
institutions.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 27.	 Consider the following statements in the context 
of a recent survey conducted by the National 
Agricultural and Rural Development Bank 
(NABARD):

	 1. 	There is an outstanding loan for more than 
half of the farm households in the country 
and their average outstanding loan is less 
than their average annual income.

	 2. 	The survey covers all aspects of financial 
inclusion including debt, savings, investment, 
pension, insurance and remittance.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 28.	 Consider the following statements in the context 
of NABARD:

	 1. 	It is an apex bank only for agricultural 
development.

	 2. 	It was established by an Act of Parliament 
on the basis of recommendations of the 
Shivaraman Committee on 12th July 1982.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 29.	dks;yk CykWdksa ds foLrkj dh xfr èkheh gksus ds 
fuEufyf[kr esa ls dkSu&lk@ls dkj.k gS@gSa\

	 1.	 uhykeh ds nkSjku yxkbZ xb± dqN vkØked cksfy;k¡A

	 2.	 varjkZ"Vªh; ck”kkjksa vkSj bZ&uhykeh izfØ;k esa dks;ys 
dh dherksa esa fxjkoVA

	 3.	 dks;yk CykWd gkfly djus okyh dqN daifu;ksa 
dh de”kksj foÙkh; fLFkfrA

	 	dwV%

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 1] 2 vkSj 3	 (d)	 dsoy 2
	 30.	,iQMhvkbZ dkWfUiQMsal baMsDl] 2018 ds lanHkZ easa 

fuEufyf[kr eas ls dkSu&ls dFku lgh gSa\
	 1.	 bl baMsDl esa Hkkjr rhu ik;nku uhps fxjdj 

11osa ik;nku ij igq¡p x;k gSA
	 2.	 ;g baMsDl oSf'od lykgdkj daiuh ,-Vh-dhusZ 

us rS;kj fd;k gSA
	 3.	 bl lwpdkad esa 25 ns'kksa@vFkZO;oLFkkvksa dks 

'kkfey fd;k x;k gSA
	 4-	 bl lwpdkad eas izFke LFkku ij vesfjdk gSA
	 5-	 bl lwpdkad eas Hkkjr ds LFkku eas fxjkoV ds 

fy;s th,lVh rFkk foeqnzhdj.k dks f”kEesnkj ekuk 
x;k gSA

	 	dwV%

	 (a)	 dsoy 1, 2 vkSj  3	 (b)	 dsoy 2, 3 vkSj 4
	 (c)	 dsoy 2, 3, 4 vkSj 5	(d)	 1, 2, 3, 4 vkSj 5
	 31.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Vh$3 ,slh iz.kkyh dks lanfHkZr djrk gS] ftlesa 

bfDoVh 'ks;j vkbZihvks dh lnL;rk lekfIr ds 
rhu fnu i'pkr~ ck”kkj esa lwphc¼ gksrs gSaA

	 2.	 ekStwnk ifCyd b';w Vkbeykbu dks Vh$6 ls Vh$3 
fd;k tk lds] blfy;s lsch us fuos'kdksa dks 
vkbZihvks esa 'ks;jksa dh cksyh ds nkSjku ;wihvkbZ 
dk mi;ksx djus dh vuqefr nsus dk izLrko 
fn;k gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	 32.	buksosV bafM;k IysViQkWeZ ds lanHkZ eas fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 bldk ykWUp uhfr vk;ksx] vVy uokpkj fe'ku 

vkSj ^ekbZxo* us la;qDr :i ls fd;k gSA

	 2.	 ;g jk"Vªh; Lrj ij cqfu;knh ,oa xgu rduhd 
okys vUos"kdksa dks gh iathÑr djus ds fy;s 
vR;ar vko';d uokpkj IysViQkWeZ dk l`tu 
djrk gSA

	 29.	 Which of the following is / are the reasons for the 
slowing down of the expansion of coal blocks?

	 1. 	Some aggressive bids placed during the 
auction.

	 2.	 Decrease in coal prices in international 
markets and e-auction process.

	 3. 	Weak financial position of some companies 
that have procured coal blocks.

         Code:
	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 1, 2 and 3	 (d)	 2 only

	 30.	 Which of the following statements are true in  the 
context of FDI Confidence Index, 2018?

	         1.	 India has slipped by three ranks and is 
placed at 11th position in this index.

	 2. 	This index has been prepared by global 
consultancy company A.T. Kearney.

	 3.	 25 countries/economies have been included 
in this index.

	 4. 	The US holds the first place on this index.
	 5. 	The GST and demonetization are being 

held responsible for the decline in India's 
position in this index.

          Code:
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 2, 3, 4 and 5 only	 (d)	 1, 2, 3, 4 and 5

	 31.	 Consider the following statements:
	 1. 	T+3 refers to such a system in which equity 

shares are listed in the market three days 
after the expiry of IPO subscription.

	 2. 	SEBI has proposed to the investors to allow 
the usage of UPI during the bid of shares 
in the IPO so that the existing public issue 
timeline could be converted to T+3 from 
T+6. 

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 32.	 Consider the following statements in the context 
of Innovate India Platform:

	 1. 	It has been launched jointly by the NITI 
Aayog, Atal Innovation Mission and 
‘MyGov’.

	         2. 	It creates a very important innovation 
platform to register only the basic and 
intensive technology inventors at the 
national level.
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	 3.	 ;g IysViQkWeZ lHkh fons'kh ,oa Hkkjrh; ukxfjdksa 
ds fy;s [kqyk gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 33.	^fu;kZr fe=k* eksckby ,i ds lanHkZ eas fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 bl ,i dks Hkkjrh; fu;kZrd egkla?k }kjk fodflr 

fd;k x;k gSA

	 2.	 bleas 100 ns'kksa ds MkVk dks 'kkfey fd;k x;k 
gSA

	 3.	 blesa VSfjiQ ls tqM+h lHkh tkudkfj;k¡ miyCèk gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	 34.	jkT; fuos'k laHkkO;rk lwpdkad] 2018 ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bl lwpdkad esa viuh fLFkfr eas lqèkkj djrs gq, 

fnYyh] fuos'kdksa ds fy;s lcls vkd"kZd jkT; 
ds :i esa mHkjk gSA

	 2.	 bl lwpdkad eas xqtjkr tks igys izFke LFkku ij 
Fkk] nks LFkku fiQlydj rhljs LFkku ij igq¡p 
x;kA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	 35.	uhfr vk;ksx vkSj Hkkjrh; m|ksx ifjla?k dh lk>snkjh 

ds rgr fof'k"V xfrfofèk;ksa ij è;ku dsafnzr fd;k tkuk 
gS] ftudk mn~ns'; fuEufyf[kr {ks=kksa esa dk;Z djuk gS%

	 1.	 lrr~ fodkl y{; esa ;ksxnku gsrq dkjksckfj;ksa 
vkSj m|ksxkssa ds fy;s fo”ku ,oa dk;Zdyki ,tsaMkA

	 2.	 okf"kZd fLFkfr fjiksVZA

	 3.	 {ks=k fof'k"V loksZÙke izFkkvksa ls tqM+s nLrkos”kA

	 	dwV%

	 (a)	 dsoy 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3
	 36.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjrh; m|ksx ifjla?k us ̂ lrr~ fodkl y{; dh 

izkfIr gsrq iwjh nqfu;k ds fy;s Hkkjrh; lekèkku* 
uked fjiksVZ izLrqr dh gSA

	 2.	 Hkkjrh; m|ksx ifjla?k 2018&19 dh orZeku Fkhe 
^Hkkjr dk vH;qn;% mÙkjnk;h] lekos'kh] lrr~* 
lrr~ fodkl ,tsaMs ds vuq:i gSA

	          3. 	This platform is open to all foreign and 
Indian nationals.

		  Which of the statements given above is/are correct?
	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 33.	 Consider the following statements in the context 
of the 'Niryat Mitra' mobile application:

	         1. 	This application has been developed by the 
Indian Exporters Federation.

	 2. 	The data of 100 countries have been included 
in this application.

	 3. 	It contains all information related to the 
tariff.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 and 3 only
	 (c)	 2 only	 (d)	 1, 2 and 3

	 34.	 Consider the following statements in the context 
of State Investment Potential Index, 2018:

         1. 		  While improving its position on this index, 
Delhi has emerged as the most attractive 
state for investors.

          2.		  Gujarat has lost its first spot and  has slipped 
to the third position on this index.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 35.		 Under the partnership of the NITI Aayog and the 
Confederation of Indian Industry the specific 
activities have to be focused, whose purpose is to 
work in the following areas:

	 1. 	To contribute to the sustainable development 
goal Vision and Action Agenda for 
entrepreneurs and industries.

	 2.	 Annual Status Report.
	 3.	 Documents related to the field specific best 

customs.

          Code:
	 (a)	 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 36.	 Consider the following statements:
	 1. 	The Confederation of Indian Industry has 

presented a report titled 'Indian Solution 
for the World for achieving sustainable 
development goals'.

	 2. 	The current theme of the Confederation 
of Indian Industry 2018-19 'India's rise: 
responsible, inclusive, sustainable' is in line 
with the sustainable development agenda.
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	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	 37.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 1 tuojh] 2015 dks fFkad VSad ds :i eas uhfr 

vk;ksx vfLrRo esa vk;kA

	 2.	 Hkkjrh; m|ksx ifjla?k ,d xSj&ljdkjh] 

xSj&ykHkdkjh] m|ksx ds usr`Ro okyk vkSj 

m|ksx&izcafèkr laxBu gSA

	 3.	 varjkZ"Vªh; eqnzk dks"k us oLrq ,oa lsok dj dks 

Hkkjr dh dj iz.kkyh eas ,d ^egÙoiw.kZ lqèkkj* 

dh laKk nh gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 38.	varjkZ"Vªh; eqnzk dks"k ds lanHkZ eas fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g ,d varjkZ"Vªh; foÙkh; laLFkk gS] tks vius 

lnL; ns'kksa dh oSf'od vkfFkZd fLFkfr ij u”kj 

j[kus dk dk;Z djrh gSA

	 2.	 bldk eq[;ky; okf'kaxVu Mh-lh-] la;qDr jkT; 

vesfjdk esa gSA

	 3.	 bldh fo'ks"k eqnzk ,lMhvkj dgykrh gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 3
	 39.	vkjchvkbZ dk vkod izs"k.k losZ{k.k ds lanHkZ eas 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl losZ{k.k ds vuqlkj dqy izs"k.k esa la;qDr vjc 

vehjkr dk fgLlk 26.9% gS] blds ckn la;qDr 

jkT; vesfjdk dk 22.9% gSA

	 2.	 blds vuqlkj] izs"k.k dk lcls yksdfiz; ekè;e 

#i, vkgj.k O;oLFkk gS tks dqy izs"k.k dk 

75.2% gSA

	 3.	 fons'kksa ls èku izkIr djus okys jkT;ksa esa egkjk"Vª 

'kh"kZ LFkku ij gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh ugha gS@gSa\

	 (a)	 dsoy 3	

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 1	

	 (d)	 1, 2 vkSj 3

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 37.	 Consider the following statements:
	 1.	  The NITI Aayog came into existence as a 

Think Tank on January 1, 2015.
	 2. 	The Confederation of Indian Industry is a 

non-governmental, non-profit, industry-led 
and industry-managed organization.

	 3. 	International Monetary Fund has called 
the Goods and Services Tax a 'significant 
improvement' in the tax system of India.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 and 3 only
	 (c)	 3 only
	 (d)	 1, 2 and 3

	 38.	 Consider the following statements in the context 
of the International Monetary Fund:

	 1. 	It is an international financial institution 
which monitors the global economic status 
of its member countries.

	 2. 	Its headquarter is in Washington D.C., 
United States.

	 3. 	Its special currency is called SDR.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1, 2 and 3	 (d)	 3 only

	 39.	 Consider the following statements in the context 
of 'Inward Remittances Survey' of RBI:

	 1. 	According to this survey, the share of United 
Arab Emirates in total remittances is 26.9%, 
followed by United States at 22.9%.

	 2.	 According to it the most popular medium 
of remittance is the Rupee Drawing 
Arrangement, which constitutes 75.2% of 
the total remittances.

	 3.	 Maharashtra holds first position among the 
states receiving remittances from abroad.

		  Which of the statements given above is/are not 
correct?

	 (a)	 3 only	
	 (b)	 1 and 2 only
	 (c)	 1 only	
	 (d)	 1, 2 and 3
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	 40.	ukisQM (,u,,iQbZMh) ds lanHkZ eas fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 bls 1958 esa Ñf"k mRiknksa ds lgdkjh foi.ku 
ds fy;s LFkkfir fd;k x;k FkkA

	 2.	 ;g dsoy nygu dh U;wure ewY; ij [kjhn gsrq 
ewY; leFkZu ;kstuk ds fy;s dsanzh; uksMy ,tsalh 
gSA

	 3.	 tc Hkh dhersa U;wure leFkZu ewY; ls uhps fxj 
tkrh gSa] ukisQM ewY; leFkZu ;kstuk ds varxZr 
dsoy frygu vkSj dikl dh [kjhn djrh gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 3
	 (c)	 dsoy 1	 (d)	 1, 2 vkSj 3
	 41.	ifjorZu ;kstuk ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 dks;yk ea=kky; us dks;yk {ks=k eas rukoxzLr 

ifjlaifÙk;ksa ds lekèkku ds fy;s bl ;kstuk dk 
lq>ko fn;k gSA

	 2.	 bl ;kstuk dks ykxw djus gsrq vkjchvkbZ dks 
ifjlaifÙk iqufuZekZ.k daiuh ds fy;s vius fu;eksa 
eas la'kksèku djuk gksxkA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	 42.	lekèkku ;kstuk ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 bl ;kstuk ds rgr ,lchvkbZ ds usr`Ro okys 

cSadjksa ds lewg us dqy feykdj 11xhxkokV {kerk 
okys 12 fo|qr la;a=kksa dk p;u fd;k gS] tks iw.kZ  
gks pqds gSaA

	 2.	 bl ;kstuk dk lq>ko fo|qr ea=kky; us fo|qr 
{ks=k eas rukoxzLr ifjlaifÙk;ksa ds lekèkku ds fy;s 
fn;k gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 43.	^LokLF; ds fy;s dusfDVfoVh* ifj;kstuk ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bl ifj;kstuk ds fy;s bysDVªkWfuDl vkSj lwpuk 

,oa izkS|ksfxdh ea=kky;] nwjlapkj ea=kky; rFkk 
LokLF; ,oa ifjokj dY;k.k ea=kky; ,d lkFk 
feydj dke djsaxsA

	 2.	 bl ifj;kstuk dk mn~ns'; lHkh xzkeh.k bykdksa 
dks ljdkjh vLirkyksa ds lkFk tksM+uk gSA

	 40.	 Consider the following statements in the context 
of NAFED:

	 1. 	It was established in 1958 for cooperative 
marketing of agricultural products.

	 2. 	It is the central nodal agency for purchase 
of only pulses under price support scheme 
at the minimum price. 

	         3. 	NAFED buys only oilseeds and cotton under 
the price support scheme, whenever prices 
fall below the minimum support price.

		  Which of the statements given above is/are correct?
	 (a)	 2 only	 (b)	 3 only
	 (c)	 1 only	 (d)	 1, 2 and 3

	 41.	 Consider the following statements in the context 
of ‘Pariwartan’ scheme:

	 1. 	The Coal Ministry has suggested this 
scheme for resolving stressed assets in the 
coal sector.

	 2.	 The RBI will have to amend its rules for the 
asset reconstruction company, in order to 
implement this scheme.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 42.	 Consider the following statements in the context 
of SAMADHAN Scheme:

	 1. 	Under this scheme, a consortium of bankers 
led by SBI has selected 12 power plants 
with a total capacity of 11 giga-watts, which 
have been completed.

	 2.	 This plan was suggested by the Ministry 
of Power to address stressed assets in the 
power sector.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 43.	 Consider the following statements in the context 
of the 'Connectivity for Health' project:

	 1. 	The Ministry of Electronics and Information 
Technology, Ministry of Telecommunication 
and Ministry of Health and Family Welfare 
will work together for this project.

	 2. 	The objective of this project is to connect all 
rural areas with government hospitals.
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	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 44.	izkS|ksfxdh mUu;u dks"k ;kstuk ds lanHkZ eas fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr ljdkj us oL=k vkSj twV m|ksx ds mUu;u 

ds fy;s 1 tuojh] 1999 dks 5 lky dh vofèk 

gsrq bl ;kstuk dh 'kq#vkr dh FkhA

	 2.	 la'kk sfèkr izk S|k sfxdh mUu;u dks"k ;kstuk 

(,Vh;w,iQ,l) ds rgr ,d ,dhÑr ,Vh;w,iQ,l 

lkWÝVos;j ds ekè;e ls ykHkkFkhZ bdkbZ;k¡ lhèks 

vius vuqiz;ksx viyksM dj ldrh gSaA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 45.	^MksesfLVd xksYM dkmafly* ds lanHkZ eas fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 dasnz ljdkj us vkHkw"k.kksa ds fu;kZr esa lgk;rk 

iznku djus gsrq bl ifj"kn ds xBu dk fu.kZ; 

fy;k gSA

	 2.	 ;g ifj"kn m|ksx ds fodkl] jks”kxkj l̀tu] {ks=kh; 

lewgksa dk fuekZ.k vkSj ewY;  Ük`a[kykvksa dks lqn`<+ 

djus dk dk;Z djsxhA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	 46.	vesfjdk }kjk bZjku ij yxk, x, izfrcaèk ds lanHkZ eas 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bZjku ljdkj }kjk vesfjdh MkWyj dks [kjhnus ;k  

j[kus ij jksdA

	 2.	 bZjku dh eqnzk fj;ky ls tqM+s ysu&nsu ij jksdA 

	 3.	 bZjku ljdkj dks Í.k nsus ls lacafèkr xfrfofèk;ksa 

ij jksdA

	 4-	 lksuk dks NksM+dj vU; dherh èkkrqvksa eas O;kikj 

ij jksdA

	 	mi;qZDr esa ls dkSu&ls dFku lgh gSa\

	 (a)	 dsoy 1 vkSj 2	

	 (b)	 dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1 vkSj 4	

	 (d)	 dsoy 1, 2 vkSj 3

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 44.	 Consider the following statements in the context 
of Technology Up-gradation Fund Scheme:

	 1.	 Government of India had introduced this 
scheme for up-gradation of textiles and jute 
industry on January 1, 1999 for a period of 
5 years.

	 2.	 Beneficiary units can upload their 
applications directly through Integrated 
ATUFS software under the Amended 
Technology Upgradation Fund Scheme.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 45.	 Consider the following statements in the context 
of the 'Domestic Gold Council':

	 1. 	The Central Government has decided to set 
up this council to provide assistance in the 
export of jewellery.

	 2. 	This Council will work for the development 
of the industry, creation of employment, 
building of regional groups and 
strengthening the price chain.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 46.	 Consider the following statements in the context 
of the restrictions imposed by the US on Iran:

	 1. 	Restriction of the purchase or keeping of US 
Dollar by the Iranian government.

	 2.	 Restriction on transaction related to Iranian 
currency Riyal.

	 3. 	Restriction on activities related to lending to 
the Iranian government.

	 4. 	Restriction of Trade in Other Precious 
Metals excluding Gold.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	
	 (b)	 2, 3 and 4 only
	 (c)	 1 and 4 only	
	 (d)	 1, 2 and 3 only
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	 47.	vax vkSj Ård nku ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;wukbVsM fdaxMe dh ljdkj us blds fy;s vius 
orZeku dkuwu esa ifjorZu dh ;kstuk cukbZ gSA

	 2.	 ;w-ds dk u;k vaxnku dkuwu Hkkjrh; ewy ds 
yksxksa ds fy;s rRdky vaxksa dh vko';drk dk 
lekèkku djsxkA

	 3.	 izLrkfor ;g iz.kkyh Lor%lgefr ij vkèkkfjr 
gSA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 3
	 48.	rqdhZ dh eqnzk eas fxjkoV ds dkj.kksa ds lanHkZ eas 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vesfjdk eas e”kcwr MkWyj vkSj mPp C;kt njsaA

	 2.	 vesfjdk }kjk rqdhZ ls LVhy vkSj ,Y;qehfu;e 
ds vk;kr ij 'kqYd dk c<+ukA

	 3.	 Hkkjr vkSj phu ds eqdkcys rqdhZ fons'kh eqnzk ds 
d”kZ ij vfèkd fuHkZj gksukA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1
	 49.	vesfjdh varfj{k cy ds lanHkZ eas fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g vesfjdh lsuk dk ,d u;k foHkkx gksxkA

	 2.	 bldk mn~ns'; varfj{k esa vesfjdh {kerk rFkk 
izHkqRo dks LFkkfir djuk gSA

	 3.	 blds xBu ds ckn ;w,l ,;jiQkslZ Lisl dekaM 
Hkh blds nk;js eas vk tk,xkA

	 	mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3
	 50.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 yksEcksd if'pe uqlk raxkjk izkar] baMksusf'k;k esa 
fLFkr ,d }hi gSA

	 2.	 baMksusf'k;k esa Hkwdai dk ”;knk [krjk jgrk gS] 
D;ksafd ;g ns'k ^fjax vkWiQ iQk;j* ij fLFkr gSA

	 3.	 nqfu;k ds vkèks ls ”;knk lfØ; Tokykeq[kh ^fjax 
vkWiQ iQk;j* dk fgLlk gSaA

	 	mi;qZDr esa ls dkSu&ls dFku lgh gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 1 vkSj 2

	 47.	 Consider the following statements in the context 
of the organ and tissue donation:

	 1. 	The government of United Kingdom has 
planned an amendment to its current law for 
this.

	 2. 	The new Organ donation law of United 
Kingdom will resolve the urgent need of 
organs for people of Indian origin.

	 3. 	The proposed system is based on self-
consent.

		  Which of the statements given above is/are correct?
	 (a)	 2 and 3 only	 (b)	 1 and 2 only
	 (c)	 1, 2 and 3	 (d)	 3 only

	 48.	 Consider the following statements in the context 
of the reasons for the decline of Turkish currency:

	 1. 	Strong dollar and high interest rates in the 
US.

	 2. 	Increase in import duty on steel and 
aluminium from Turkey by the US

	 3. 	Turkey is more dependent on foreign 
exchange debt in comparison to India and 
China.

		  Which of the statements given above is/are correct?
	 (a)	 3 only
	 (b)	 1, 2 and 3
	 (c)	 2 and 3 only
	 (d)	 1 only

	 49.	 Consider the following statements in the context 
of the American Space Force:

	 1.	 It will be a new department of the US Army.
	 2.	 Its objective is to establish American 

supremacy and hegemony over space.
	 3.	 After its formation the US Air Force Space 

Command will also be covered under its 
scope.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 50.	 Consider the following statements:
	 1. 	Lombok is an island located in West Nusa 

Tangara Province of Indonesia.
	 2. 	There is a high risk of earthquake in 

Indonesia because this country is located on 
'Ring of Fire'.

	 3.	 More than half of the active volcanoes of the 
world are part of the 'Ring of Fire'.

		  Which of the statements given above are correct?
	 (a)	 2 and 3 only	 (b)	 1, 2 and 3
	 (c)	 1 and 3 only	 (d)	 1 and 2 only



15lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 011-47532596, 8750187501  (+91) 8130392354, 8130392356
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 51.	^usiky&bafM;k fFkad VSad f'k[kj lEesyu] 2018* ds 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldk vk;kstu ubZ fnYyh esa fd;k x;kA

	 2.	 ,f'k;u baLVhV~;wV vkWiQ fMIykseslh ,aM baVjus'kuy 
viQs;lZ rFkk usg: eseksfj;y E;wf”k;e ykbczsjh 
}kjk la;qDr :i ls bldk vk;kstu  fd;k x;kA

	 3.	 usiky rFkk Hkkjr esa Øe'k% izR;sd o"kZ oSdfYid 
:i ls bls vk;ksftr djus dh ;kstuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 52.	^ekynho* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g Hkkjr ds nf{k.k&if'pe esa 400 fdeh- dh 
nwjh ij fLFkr gSA

	 2.	 ;g phu dh flYd jksM ifj;kstuk dk fgLlk 
ugha gSA

	 3.	 ;g ikfdLrku ds ckn phu ds eqDr O;kikj 
le>kSrs ij gLrk{kj djus okyk nf{k.k ,f'k;k 
dk nwljk ns'k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 53.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bZjku] Hkkjr ds fy;s dPps rsy dk lcls cM+k 
vkiwfrZdÙkkZ ns'k gSA

	 2.	 lÅnh vjc Hkkjr ds fy;s dPps rsy dk nwljk 
cM+k vkiwfrZdÙkkZ ns'k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 54.	vesfjdh lhusV }kjk foÙk o"kZ 2019 gsrq ikfjr fd;s x, 

^us'kuy fMiQsal vkWFkjkb”ks'ku ,DV* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 blesa ^vesfjdh fojksfèk;ksa ds f[kykiQ dkjZokbZ 
dkuwu* (lh,,Vh,l,) ds izkoèkku&231 dks 
lekIr djus dk mik; fd;k x;k gSA 

	 2.	 bleas vesfjdk ds egÙoiw.kZ j{kk lk>snkjksa dks 
jk"Vªifr }kjk ,d izek.ki=k tkjh dj ^vesfjdh 
fojksfèk;ksa ds f[kykiQ dkjZokbZ dkuwu* (lh,,Vh,l,) 
ds rgr izfrcaèkksa ls NwV nsus dk izkoèkku fd;k 
x;k gSA 

	 51.	 Consider the following statements in the context 
of “Nepal–India Think Tank Summit 2018”:

	 1.	 It was organized in New Delhi.
	 2. 	It was jointly hosted by Asian Institute of 

Diplomacy and International Affairs and 
Nehru Memorial Museum Library.

	 3. 	There is a plan to organize it alternatively 
each year in Nepal and India respectively.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 52.	 Consider the following statements in the context 
of the 'Maldives':

	 1. 	It is located at a distance of 400 km south 
west of India.

	 2. 	It is not a part of Silk Road project of China.
	 3. 	It is the second country in South Asia to sign 

a Free Trade Agreement with China after 
Pakistan.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 53.	 Consider the following statements:
	 1. 	Iran is the largest supplier of crude oil to 

India.
	 2. 	Saudi Arab is the second largest supplier of 

crude oil to India.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 54.	 Consider the following statements in the context 
of the 'National Defence Authorization Act' passed 
by the US Senate for the fiscal year 2019:

	 1.	 Through this Act the measures have 
been taken to repeal the provision-231 
of “Countering America's Adversaries 
Through Sanctions Act (CAATSA)”.

	 2.	 There has been a provision for exemption 
from the restrictions by issuing a certificate 
from the President of America to its 
key defence partners under "Countering 
America's Adversaries Through Sanctions 
Act (CAATSA).”
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 55.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vesfjdk }kjk lkefjd O;kikj izkfèkdj.k&1 
(,lVh,&1) esa 'kkfey fd;s tkus okyk Hkkjr 
nf{k.k ,f'k;k dk izFke ns'k gSA

	 2.	 vesfjdk }kjk ̂ ,lVh,&1* dk ntkZ dsoy ijek.kq 
vkiwfrZdÙkkZ lewg] felkby  izkS|ksfxdh fu;a=k.k 
O;oLFkk vkSj oklsukj O;oLFkk uked  rhu izeq[k 
laxBuksa ds lnL;ksa dks gh fn;k tkrk gSA

	 3.	 ,lVh,&1 esa 'kkfey ns'kksa dks yxHkx 90% nksgjh 
mi;ksx okyh rduhd ds fy;s ykblsaleqDr igq¡p 
izkIr gksrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 56.	Hkkjr us viuh gokbZ {ks=k dh j{kk dks lqn`<+ djus ds 

fy;s fuEufyf[kr esa ls fdl ns'k ls jk"Vªh; mUur ok;q 
j{kk iz.kkyh&II [kjhnus dh ;kstuk cukbZ gS\	 	

	 (a)	 vesfjdk	 (b)	 :l

	 (c)	 b”kjkby	 (d)	 Úk¡al
	 57.	la;qDr jk"Vª }kjk gky gh esa tkjh fd;s x,  ^bZ&xous±l 

lwpdkad* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 blesa Hkkjr dks 96 ok¡ LFkku izkIr gqvk gSA 

	 2.	 blesa dksfj;k x.kjkT; us izFke LFkku izkIr fd;k gSA

	 3.	 ;g nwjlapkj baÚkLVªDpj lwpdkad] ekuo iwath 
lwpdkad ,oa vkWuykbu lsok lwpdkad uked rhu 
lwpdkadksa ds Hkkfjr vkSlr ij vkèkkfjr ,d lexz 
lwpdkad gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 58.	mÙkj&iwohZ jkT;ksa vkSj E;k¡ekj ds chp dusfDVfoVh dks 

izksRlkgu nssus gsrq fuEufyf[kr esa ls fdu LFkkuksa ds ekè;e 
ls Hkwfe lhek ikj djus ds fy;s Hkkjr ,oa E;kek¡j }kjk 
oh”kk ekunaMksa esa NwV nsus dk iQSlyk fd;k x;k gS\	

	 (a)	 pansy (ef.kiqj) vkSj fpu (E;k¡ekj)

	 (b)	 eksjsg (ef.kiqj) vkSj rew (E;k¡ekj)

	 (c)	 Fkkscy (ef.kiqj) vkSj ;k¡xwu (E;k¡ekj)

	 (d)	 m[k:y (ef.kiqj) vkSj 'kku (E;k¡ekj)

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 55.	 Consider the following statements:
	 1. 	India is the first country in South Asia to 

be included in Strategic Trade Authority-1 
(STA-1) by USA.

	 2.		 The status of 'STA-1' is given by the USA 
only to the members of these three major 
organizations i.e. Nuclear Suppliers Group, 
Missile Technology Control System and 
Wassenaar System.

	 3. 	Countries included in STA-1 get licensed 
free access to nearly 90% of dual-use 
technology.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 1 and 3 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3

	 56.	 From which of the following countries India has 
planned to buy National Advanced surface-to-Air 
Missile System-II to strengthen its airspace defence?

	 (a)	 America	 (b)	 Russia
	 (c)	 Israel	 (d)	 France

	 57.	 Consider the following statements in the context 
of the recently released 'E-Governance Index' by 
the United Nations:

	 1. 	India has secured 96th position in this Index.
	 2.	 The Republic of Korea has secured first 

place in this Index.
	 3. 	I	t is an overall index based on the weighted 

average of three indices called telecom 
infrastructure index, human capital index 
and online service index.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 58.	 Which of the following places has been decided 
to give a relaxation to visa norms by India and 
Myanmar to cross the land boundary for promoting 
connectivity between North-Eastern states and 
Myanmar?

	 (a)	 Chandel (Manipur) and Chin (Myanmar)
	 (b)	 Moreh (Manipur) and Tamu (Myanmar)
	 (c)	 Thobal (Manipur) and Yangon (Myanmar)
	 (d)	 Ukhrul (Manipur) and Shan (Myanmar)
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	 59.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bljks }kjk 2020 rd varfj{k esa Hkkjrh; ;k=kh 

Hkstus dh ;kstuk gSA

	 2.	 bljks }kjk vius ekuo varfj{k mM+ku dk;ZØe 
dks ^xxu;ku* uke fn;k x;k gSA

	 3.	 bljks ds ekuo varfj{k mM+ku dk;ZØe dh liQyrk 
ds ckn varfj{k esa ;k=kh Hkstus okyk Hkkjr rhljk 
jk"Vª gksxkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3 	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 60.	^nwjLFk jsfM;ks vkdk'kxaxk* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g i`Foh ls 12 vjc izdk'k o"kZ dh nwjh ij 

fLFkr gSA

	 2.	 bldh [kkst ^tk;aV ehVj&oso jsfM;ks VsyhLdksi* 
uked ,d Hkkjrh; VsyhLdksi }kjk dh xbZ gSA

	 3.	 ;g ml le; dh gS] tc czãkaM viuh orZeku 
vk;q dk dsoy 7% FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 61.	^Lisl VsDuksykWth fjlpZ lsaVj* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 mÙkj Hkkjr dk izFke Lisl VsDuksykWth fjlpZ lsaVj 

f=kiqjk esa LFkkfir fd;k tk,xkA

	 2.	 ;g fjlpZ lsaVj varfj{k foKku ds {ks=k esa #fp 
j[kus okys fo}kuksa vkSj ;qokvksa gsrq volj miyCèk 
djk,xkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 62.	^ikdZj lksyj izksc* uked varfj{k ;ku ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g lw;Z dh lrg dk vè;;u djus ds fy;s 

bljks }kjk ykWUp fd;k x;k gSA

	 2.	 bldk mn~ns'; dksjksuk ds jgL;ksa ls inkZ mBkuk 
gSA

	 3.	 ;g lw;Z dh Å"ek vkSj fofdj.k dk lkeuk djus 
okyk viuh rjg dk izFke ;ku gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3 	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 59.	 Consider the following statements:
	 1.	 ISRO has planned to send Indian passengers 

in space by 2020.
	 2.	 ISRO has named as ‘Gaganyan’ its human 

space flight program.
	 3. 	After the success of human space flight 

program of ISRO, India will be the third 
nation to send passengers in space.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 60.	 Consider the following statements in the context 
of the 'Remote Radio Galaxy':

	 1. 	It is located 12 billion light-years away from 
the Earth.

	 2. 	It has been discovered by an Indian telescope 
called 'Giant Meter-Wave Radio Telescope'.

	 3. 	It belongs to that time, when the universe 
was only 7% of its present age.

		  Which of the statements given above is/are correct?
	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 61.	 Consider the following statements in the context 
of 'Space Technology Research Centre':

	 1. 	The first space technology research centre 
of North India will be set up in Tripura.

	 2.	 This research centre will provide 
opportunities to the scholars and youth 
interested in space science.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 62.	 Consider the following statements in the context 
of spacecraft called 'Parker Solar probe':

	 1. 	It has been launched by ISRO to study the 
surface of the sun.

	 2.	 Its objective is to reveal the mysteries of 
Corona.

	 3. 	It is the first of its kind spacecraft to survive 
the heat and radiation of the sun.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 63.	^xkvksiQsu&11* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g csYV ,aM jksM bfuf'k,fVo ifj;kstuk dh 
fuxjkuh djus ds fy;s phu }kjk ykWUp fd;k x;k 
,d mPp js”kksY;w'ku ;qDr i`Foh voyksdu mixzg 
gSA

	 2.	 bls ykWUx ekpZ 4B jkWdsV ds ekè;e ls ykWUp 
fd;k x;kA

	 3.	 ;g ykWUx ekpZ jkWdsV  Ü	k ` a [ ky k dk 282 ok ¡ 
fe'ku FkkA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 64.	^fØaVkiQsy* ds lanHkZ esa fuEufyf[kr dFkuksa esa ls dkSu&lk 

lgh gS\	

	 (a)	 ;g vesfjdh varfj{k ,tsalh uklk }kjk iz{ksfir 
,d [kksth mixzg gSA

	 (b)	 ;g Iyk”eksfM;e fookDl eysfj;k ds mipkj gsrq 
iz;qDr ,d nok gSA

	 (c)	 ;g gky esa LFkkfir vesfjdk ds ,d varfj{k 
vuqlaèkku dsanz dk uke gSA

	 (d)	 ;g fiLlqvksa ds dkVus ls gksus okyh Msaxw ds rjg 
dh ,d chekjh gSA

	 65.	^,iQvks,Dlih 2 thu* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g Hkk"kk vkSj cksyus ds lkekU; fodkl ds fy;s 
vko';d gSA

	 2.	 ;g dsoy euq";ksa esa ik;k tkrk gSA

	 3.	 bl thu ds Bhd ls dk;Z u djus ds dkj.k 
O;fDr esa xaHkhj ok.kh nks"k gks tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 66.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 vkbZ,u,l dyojh Hkkjr dh izFke LdkWfiZ;u 

Js.kh ij vkèkkfjr iuMqCch gSA

	 2.	 vkbZ,u,l pØ :l }kjk iV~Vs ij izkIr Hkkjr 
dh ,d ijek.kq iuMqCch gSA

	 3.	 vkbZ,u,l vfjgar ,d Lons'k fufeZr cSfyfLVd 
felkby ijek.kq iuMqCch gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	 63.	 Consider the following statements in the context 
of 'Gaofen-11':

	 1. 	This is a high-resolution earth observation 
satellite launched by North Korea to monitor 
the Belt and Road Initiative project.

	 2. 	It was launched by the Long March 4B 
Rocket.

	 3. 	This was the 282nd mission of the Long 
March rocket series.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 64.	 Which of the following statement is correct in the 
context of 'Krintafel'?

	 (a)	 This is an exploratory satellite launched by 
American Space Agency NASA.

	 (b)	 This is a drug used for the treatment of 
plasmodium vivax malaria.

	 (c)	 This is the name of a recently founded US 
Space Research Centre.

	 (d)	 It is a disease like dengue which is caused 
by biting of fleas.

	 65.	 Consider the following statements in context of 
'FOXP2 Gene':

	 1. 	It is essential for normal development of 
language and speech.

	 2. 	It is only found in humans.
	 3. 	A serious speech defect is formed in the 

person due to improper functioning of this 
gene.

        	Which of the statements given above is/are not 
correct?

	 (a)	 2 and 3 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 66.	 Consider the following statements:
	 1. 	INS Kalwari is a submarine based on first 

Scorpion series of India.
	 2. 	INS Chakra is a nuclear submarine of India 

leased from Russia.
	 3. 	INS Arihant is an indigenously developed 

ballistic missile nuclear submarine.

		  Which of the statements given above is/are correct?
	 (a)	 2 and 3 only	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
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	 67.	^LekVZ ,aVh ,;jiQhYM osiu (,l,,MCY;w)* ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g j{kk vuqlaèkku ,oa fodkl laxBu }kjk fM”kkbu 
rFkk fodflr fd;k x;k 120 fdyksxzke oxZ dk 
,d LekVZ osiu gSA

	 2.	 ;g bljks }kjk fM”kkbu ,oa fodflr fd;k x;k 
,d ,aVh ,;jiQhYM osiu gSA

	 3.	 ;g mPp lVhdrk ds lkFk 500 fdeh- dh jsat 
rd y{; dks Hksnus esa l{ke gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 68.	^jk"Vªh; oU;tho vkuqoaf'kd lalkèku cSad* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g oU; tho laj{k.k ds fy;s gky esa LFkkfir 

Hkkjr dk izFke vkuqoaf'kd lalkèku cSad gSA

	 2.	 ;g Hkkjr esa yqIrizk; taxyh i'kq iztkfr;ksa ds 
thfor lsy] xSesV~l vkSj Hkzw.k dks Øk;ksfiz”koZ 
djsxkA

	 3.	 bldk eq[; mn~ns'; yqIrizk; vkSj lajf{kr fd;s 
tkus ;ksX; tkuojksa dks laj{k.k iznku djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 69.	fuEufyf[kr dFkuksa ij fopkj dhft;s% 
	 1.	 Hkkjrh; fj”koZ cSad }kjk tYn gh tkjh fd;s tkus 

okys ` 100 ds u, cSaxuh jax ds uksV ij jkuh 
dh oko dk fp=kkadu fd;k x;k gSA

	 2.	 xqtjkr ds ikVu eas ljLorh unh ds fdukjs fLFkr 
jkuh dh oko (ckoM+h) dks o"kZ 1063 esa lksyadh 
'kklu ds jktk Hkhenso izFke dh Le`fr esa mudh 
iRuh jkuh mn;kefr us cuok;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	 70.	^lk;uksFkhl* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 ;g ,d cSDVhfj;k gS] tks ukbVªkstu dk fLFkjhdj.k 

djus esa l{ke gSA

	 2.	 ;g gky esa [kksth xbZ xsgw¡ dh ,d ubZ iztkfr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 67.	 Consider the following statements in the context 
of 'Smart Anti Airfield Weapon (SAAW)':

	 1. 	It is a smart weapon of 120kg category 
designed and developed by the Defence 
Research and Development Organization.

	 2.	 It is an Anti Airfield Weapon designed and 
developed by ISRO.

	 3. 	It is capable of penetrating the target up to 
500 km range with high accuracy.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 68.	 Consider the following statements in the context 
of 'National Wildlife Genetic Resources Bank':

	 1. 	It is the first genetic resource bank of India 
recently established for conservation of 
wildlife.

	 2. 	It will cryopreserve live cells, gametes and 
embryos of endangered wild animal species 
in India.

	 3. 	Its main objective is to provide protection to 
endangered and preservable animals.

         	Which of the statements given above is/are correct?
	 (a)	 2 and 3 only
	 (b)	 2 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3

	 69.	 Consider the following statements:
	 1. 	The 'Rani ki Bawdi' has been portrayed on 

the new purple note of 100 rupees issued by 
Reserve Bank of India recently.

	 2. 	The 'Rani ki Bawdi' was constructed in 
Patan of Gujarat, on the bank of Saraswati 
river, in the year 1063 in the memory of 
King Bhimdev-I of Solanki dynasty, by his 
wife Queen Udyamati.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 70.	 Consider the following statements in the context 
of 'Cyanothece':

	 1. 	It is a bacteria that is capable of Nitrogen 
fixation.

 	 2. 	It is a recently discovered new species of 
wheat.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 71.	^es?kky; ;qx* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g Hkw&oSKkfudksa }kjk gky esa [kkstk x;k èkjrh 
ds bfrgkl dk ,d uohu ;qx gSA

	 2.	 ;g gksykslhu ;qx dk uohure ;qx gSA

	 3.	 bldh 'kq#vkr 5200 lky iwoZ gqbZ FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 72.	^varjkZ"Vªh; ukbVªkstu igy* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjrh; oSKkfud&f'k{kkfon~ uanqyk j?kqjke dks 
bldk vè;{k pquk x;k gSA

	 2.	 ;g ,d varjkZ"Vªh; dk;ZØe gS] ftls o"kZ 2003 
esa i;kZoj.k dh leL;kvkas ij oSKkfud lfefr 
vkSj baVjus'kuy ft;ksLiQh;j&ck;ksLiQh;j izksxzke 
}kjk izk;ksftr fd;k x;kA

	 3.	 bldk eq[; mn~ns'; fVdkÅ [kk| mRiknu esa 
ukbVªkstu dh iQk;nsean Hkwfedk dks vuqdwfyr 
djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 73.	izfrfØ;k'khy ukbVªkstu ds lanHkZ esa fuEufyf[kr dFkuksa 

esa dkSu&lk@ls lgh gS@gSa\

	 1.	 vfèkdka'k thfor tho izfrfØ;k'khy ukbVªkstu 
dk mi;ksx ugha dj ldrs gSaA

	 2.	 lHkh thfor thoksa }kjk vk.kfod ukbVªkstu dk 
mi;ksx fd;k tkrk gSA	

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 74.	^jksMeSi VqoM~lZ Dyhfuax bafM;kt ,;j* uked vè;;u 

gky esa fuEufyf[kr esa ls fdlds }kjk tkjh fd;k 
x;k gS\	

	 (a)	 varjkZ"Vªh; ukbVªkstu igy

	 (b)	 fo'o LokLF; laxBu
	 (c)	 Hkkjr ljdkj

	 (d)	 fo'o ekSle foKku laxBu
	 75.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vksfM'kk ljdkj }kjk Hkhrjdf.kdk esa ,d 
fo'oLrjh; tSo fofoèkrk izn'kZu dsanz LFkkfir 
djus dh ;kstuk gSA

	 71.	 Consider the following statements in the context 
of 'Meghalaya era':

	 1. 	It is a new era of Earth's history discovered 
by geologists recently.

	 2.	  This is the latest era of the Holocene era.
	 3.	 It started 5200 years ago.

       		 Which of the statements given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 72.	 Consider the following statements in the context 
of 'International Nitrogen Initiative':

	 1. 	Indian scientist-academician Nandula 
Raghuram has been elected as its chairman.

	 2. 	This is an international program, 
which was sponsored by the Scientific 
Committee on Environmental Problems 
and the International Geosphere-Biosphere 
Program in 2003.

	 3.	 Its main objective is to optimize the 
beneficial role of nitrogen in sustainable 
food production.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only 	 (b)	 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 73.	 Which of the following statements is/are correct 
in the context of Reactive Nitrogen?

	 1. 	Most of the living organisms cannot use 
reactive nitrogen.

	 2. 	Molecular nitrogen is used by all living 
organisms.

         Code:
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 74.	 The research paper 'Roadmap Towards Cleaning 
India's Air' has been issued by which of the 
following?

	 (a)	 International Nitrogen Initiative
	 (b)	 World Health Organization
	 (c)	 Government of India
	 (d)	 World meteorological organization

	 75.	 Consider the following statements:
	 1. 	The Government of Odisha has planned to set 

up a world-class biodiversity demonstration 
centre in Bhitarkanika.
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	 2.	 Hkhrjdf.kdk esa fo'o dh dqy eSaxzkso iztkfr;ksa  

dk 70 izfr'kr fgLlk ekStwn gSA

	 3.	 Hkhrjdf.kdk ds fudV fLFkr dkfyHkatfn;k Hkkjr 

ds 70 izfr'kr ,Lpqjkbu ;k [kkjs ikuh ds 

exjePNksa dk vkokl gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 76.	^ifjos'k* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g ,dhÑr i;kZoj.k izcaèku iz.kkyh ds fy;s 

,dy f[kM+dh lqfoèkk iznku djrk gSA

	 2.	 ;g i;kZoj.k] ou vkSj tyok;q ifjorZu ea=kky; 

}kjk jk"Vªh; lwpuk&foKku dasnz ds rduhdh 

lg;ksx ls fM”kkbu vkSj fodflr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 77.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 rsy ,oa izkÑfrd xSl ea=kky; }kjk okguksa 

eas bLrseky gksus okys b±èku dh izÑfr dks bafxr 

djus gsrq okguksa ij gksyksxzke vkèkkfjr jaxhu 

fLVdj yxkus dh ;kstuk gSA

	 2.	 gYds uhys jax ds gksyksxzke vkèkkfjr fLVdj dk 

iz;ksx isVªksy vkSj lh,uth lapkfyr okguksa ds 

fy;s fd;k tk,xkA

	 3.	 ukjaxh jax ds gksyksxzke vkèkkfjr LVhdj dk iz;ksx 

Mh”ky lapkfyr okguksa ds fy;s fd;k tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 78.	fpYdk >hy ds lanHkZ esa fuEufyf[kr dFkuksa esa ls 

dkSu&lk@ls lgh ugha gS@gSa\

	 1.	 bls jkelj lEesyu ds rgr varjkZ"Vªh; egÙo 

dh izkÑfrd vknzZHkwfe ?kksf"kr fd;k x;k gSA

	 2.	 vksfM'kk ljdkj }kjk fpYdk >hy esa ,;jksMªkse 

LFkkfir djus dh ;kstuk gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 2. 	70 percent of the world's total species are 
present in Bhitarkanika.

	 3. 	Kalibhanjadia, located near Bhitarkanika, 
is the home of 70 percent of estuarine or 
saltwater crocodiles in India.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 76.	 Consider the following statements in the context 
of 'PARIVESH':

	 1. 	It provides single window facility for 
integrated environmental management 
system.

	 2.	 It has been designed and developed by 
the Ministry of Environment, Forest and 
Climate Change with the technical support 
of National Informatics Centre.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 77.	 Consider the following statements:
	 1. 	There is a plan of Ministry of Oil and 

Natural Gas to introduce hologram based 
colour stickers to indicate the nature of the 
fuel used by the vehicles.

	 2.	 Light blue hologram stickers will be used 
for petrol and CNG powered vehicles.

	 3. 	Orange colour hologram sticker will be used 
for diesel driven vehicles.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 78.	 Which of the following statements is/are not 
correct in the context of Lake Chilika?

	 1. 	It has been declared as a natural wetland 
of international importance under Ramsar 
Conference.

	 2.	 The Odisha government has planned to set 
up aerodrome in Chilka Lake.

         Code:
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 79.	^Hkkjr LVst okgu mRltZu ekudksa (Hkkjr LVst)* ds 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 1 vizSy] 2017 ls loZizFke fnYyh esa Hkkjr 
LVst&IV ekudksa dks ykxw fd;k x;kA

	 2.	 1 vizSy] 2018 ls laiw.kZ Hkkjr esa Hkkjr LVst&VI 
ekudksa dks ykxw fd;k x;kA

	 	mi;qZDr dFkuksa eas ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 80.	^xaxk o`{kkjksi.k vfHk;ku* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 ;g uekfe xaxs dk;ZØe dk eq[; ?kVd gSA

	 2.	 bldk mn~ns'; xaxk unh ds laj{k.k iz;klksa esa ouksa 
ds egÙo ds izfr vke turk rFkk lHkh fgrèkkjdksa 
dks tkx:d djuk gSA

	 3.	 jk"Vªh; LoPN xaxk fe'ku dh vksj ls xaxk ?kkVh 
okys dsoy pkj jkT;ksa esa gky esa bldk vk;kstu 
fd;k x;kA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 81.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 7 vizSy] 2018 dks mÙkj izns'k esa ^xaxk gjhfrek 

vfHk;ku&2018* dk 'kqHkkjaHk fd;k x;kA 

	 2.	 ^xaxk gjhfrek vfHk;ku&2018* ds rgr xaxk dks 
iznw"k.k eqDr cukus gsrq xaxk rV ij fLFkr mÙkj 
izns'k ds 35 tuinksa esa xaxk fdukjs o`{k yxk, 
tk,axsA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksukas 

	 (d)	 u rks 1 vkSj u gh 2
	 82.	^lkfydksfuZ;k* ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 ;g eSaxzkso vknzZHkwfe eas yo.kh; nynyh LFkkuksa 

ij mxus okyk ,d ikSèkk gSA

	 2.	 ;g eèkqesg] mPp jDrpki vkSj xSfLVªd ls lacafèkr 
chekfj;ksa ls ihfM+r ejh”kksa }kjk lykn ,oa ued 
ds :i eas iz;ksx fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 79.	 Consider the following statements in the context 
of 'Bharat stage emission standards (Bharat Stage)':

	 1. 	The first Bharat Stage-IV standards were 
implemented in Delhi on April 1st, 2017.

	 2. 	Bharat Stage-VI standards were 
implemented in the whole of India from 
April 1, 2018.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 80.	 Consider the following statements in the context 
of “Ganga Vriksharopan Abhiyan”:

	 1. 	It is the chief component of Namami Gange 
program.

        2. It aims to bring greater awareness among 
people and other stakeholders regarding the 
importance of afforestation for the task of 
Ganga Rejuvenation.

	 3.	 It was organized recently in only four states 
of Ganga valley by the National Clean 
Ganga Mission.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only
	 (b)	 3 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3

	 81.	 Consider the following statements:
	 1. 	'Ganga Haritima Abhiyan -2018' was 

launched in Uttar Pradesh on April 7, 2018.
	 2. 	Under the 'Ganga Haritima Campaign 

-2018', trees will be planted on the bank of 
river Ganga in 35 districts of Uttar Pradesh 
to make the River Ganga pollution free.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 82.	 Consider the following statements in the context 
of 'Salicornia':

	 1. 	This is a mangrove plant grown on Saline 
marshy land in the wetlands.

	 2. 	It is used as a salad and salt by patients 
suffering from diabetes, hypertension and 
gastric-related diseases.

        	Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 83.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fcgkj dk foØef'kyk xsaxsfVd MkWfYiQu vHk;kj.; 
Hkkjr ds jk"Vªh; tyh; thoksa ds fy;s ns'k dk 
,dek=k vHk;kj.; gSA

	 2.	 xsaxsfVd MkWfYiQu laiw.kZ fo'o esa  rk”ks ikuh dh 
,dek=k MkWfYiQu gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 84.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 laiw.kZ fo'o eas ikbZ tkus okyh isaxksfyu dh vkB 
iztkfr;ksa esa ls pkj iztkfr;k¡ dsoy Hkkjr esa gh 
ikbZ tkrh gSaA

	 2.	 Hkkjrh; isaxksfyu ns'k eas fgeky; ds nf{k.k esa 
ik;k tkrk gSA

	 3.	 Hkkjrh; isaxksfyu dks ^yqIrizk;* dh Js.kh esa j[kk 
x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 85.	^ekr`Ro ykHk (la'kksèku) vfèkfu;e] 2017* ds lanHkZ eas 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 blesa ekr`Ro vodk'k 12 lIrkg ls c<+kdj 26 
lIrkg djus dk izkoèkku fufgr gSA

	 2.	 blesa 10 rFkk mlls vfèkd deZpkfj;ksa okys 
izfr"Bkuksa esa vfuok;Z ikyuk ?kj@f'k'kq&lnu lqfoèkk 
iznku djus dk izkoèkku fufgr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 86.	^ckWEcs fHk{kko`fÙk jksdFkke vfèkfu;e] 1959* ds lanHkZ 

eas fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 blesa fHk[kkjh ?kjksa esa jgus okys O;fDr;ksa ds 
fHk{kko`fÙk ds ekeys eas igyh ckj nks"kh ik, tkus 
ij 3 lky dh fgjklr ;k tqek Zu s dk 
izkoèkku fufgr gSA

	 2.	 blds rgr nwljh ckj fHk{kko`fÙk dh iqujko`fÙk ij 
10 lky ds fy;s fgjklr esa ysus dk vkns'k fn;k 
tk ldrk gSA

	 3.	 loksZPp U;k;ky; us gky esa fHk{kko`fÙk dks 
xSj&vkijkf/d ekurs gq, bl dkuwu ds 25 
vyx&vyx oxks± dks vlaoSèkkfud ?kksf"kr dj 
fn;k gSA

	 83.	 Consider the following statements:
	 1.	 Vikramshila Gangetic Dolphin Sanctuary of 

Bihar is the only sanctuary in the country for 
this national aquatic creature of India.

	 2.	 Gangetic dolphin is the only fresh water 
dolphin in the world.

        	Which of the statements given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 84.	 Consider the following statements:
	 1. 	Four out of eight species of pangolin of the 

world are only found in India.
	 2. 	Indian penguin is found in the south of the 

Indian Himalayas.
	 3.	 Indian Pangolin is placed as an 'Endangered' 

category.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 85.	 Consider the following statements in the context 
of 'Maternity Benefit (Amendment) Act, 2017':

	 1. 	There is a provision to increase the duration 
of maternity leave to 26 weeks from 12 
weeks.

	 2.	 It contains the provision of providing 
compulsory crèche facility for every 
establishment employing 10 or more 
employees.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 86.	 Consider the following statements in the context 
of 'Bombay Prevention of Beggary Act, 1959':

	 1. 	If a person is found guilty of begging for the 
first time, who are living in a shelter homes 
for beggars, there is a provision of 3 years 
of imprisonment or fine.

	 2. 	If a person is found guilty of begging for the 
second time, he can be taken into custody 
for 10 years.

	 3. 	The Supreme Court has recently declared 
25 different sections of this law as 
unconstitutional by considering begging as 
a non-criminal act.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	 dsoy 3
	 (c)	 dsoy 1 vkSj 2  	 (d)	 1, 2 vkSj 3
	 87.	^r`rh; LoPN jsyos LVs'ku losZ{k.k* ds lanHkZ eas 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 blds rgr tksèkiqj jsyos LVs'ku dks ,&1 LVs'ku 

Js.kh esa lcls LoPN LVs'ku ?kksf"kr fd;k x;k gSA

	 2.	 blds rgr okjk.klh jsyos LVs'ku dks ,&1 LVs'ku 
Js.kh esa lcls xank LVs'ku ?kksf"kr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 88.	^vkj;wlhvks (jhiji”k ;w”M dqfdax vkW;y) igy* ds 

lanHkZ eas fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 blds rgr iz;qDr dqfdax vkW;y dk ck;ksMh”ky 

esa laxzg.k vkSj :ikarj.k fd;k tk,xkA
	 2.	 blds rgr iz;qDr dqfdax vkW;y ds laxzg.k gsrq 

101 LFkkuksa ij 64 daifu;ksa dh igpku dh 
xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 89.	^Ñf"k oSKkfud HkrhZ cksMZ* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 bldk xBu Hkkjrh; Ñf"k vuqlaèkku ifj"kn esa 

fofHkUu inksa ij esèkkoh oSKkfudksa dh HkrhZ eas 
vfèkd ikjnf'kZrk vkSj n{krk lqfuf'pr djus gsrq 
fd;k tk,xkA

	 2.	 ;g rhu lnL;h; (,d vè;{k vkSj 2 lnL;) 
cksMZ gksxkA

	 3.	 blds lnL;ksa dk dk;Zdky 3 o"kZ ;k 65 o"kZ 
dh vk;q (tks Hkh igys gks) rd gksxkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2 
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 90.	^Nk=k iqfyl dSMsV dk;ZØe* ds lanHkZ eas] fuEufyf[kr  

dFkuksa ij fopkj dhft;s%
	 1.	 gky esa fnYyh esa bl jk"VªO;kih dk;ZØe dh 

'kq#vkr dh xbZA
	 2.	 ;g dk;ZØe 9oha vkSj 10oha d{kk ds Nk=kksa ij 

fo'ks"k è;ku nsrk gSA
	 3.	 bldk mn~ns'; Ldwyh Nk=kksa dh enn ls iqfyl 

vkSj tu leqnk; ds chp leUo; lsrq dk fuekZ.k 
djuk gSA 

		  Which of the statements given above is/are correct?
	 (a)	 2 and 3 only	 (b)	 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 87.	 Consider the following statements in the context 
of 'Third Clean Railway Station Survey':

	         1. 	The Jodhpur railway station has been 
declared as the cleanest station in the A-1 
station category under this survey.

	 2.	 The Varanasi railway station has been 
declared as the dirtiest station in the A-1 
station category under this survey.

         	Which of the statements given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 88.	 Consider the following statements in context of 	
'RUCO (Repurpose Used Cooking Oil) Initiative':

	 1. 	The storage and conversion of used cooking 
oil to biodiesel, will be done under this.

	 2. 	64 companies have been identified in 101 
locations for storage of used cooking oil.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 89.	 Consider the following statements in the context 
of 'Agricultural Scientific Recruitment Board':

	 1. 	It will be set up to ensure more transparency 
and efficiency in the recruitment of 
meritorious scientists to various positions in 
the Indian Council of Agricultural Research.

	 2. 	It will be a three-member board (a president 
and 2 members).

	 3. 	The term of its members shall be 3 years or 
till the age of 65 (whichever is earlier).

		  Which of the statements given above is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 90.	 Consider the following statements in the context 
of 'Student Police Cadet Program':

	 1.	 Recently this nationwide program was 
launched in Delhi.

	 2. 	This program gives special attention to the 
students of 9th and 10th class.

	 3. 	It aims to build a bridge between the police 
and the masses with the help of school 
students.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy  3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 91.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fo'o ekSle foKku laxBu us ÝyS'k ÝyM ds 
iwokZuqeku lacaèkh dk;Z djus gsrq Hkkjr dks uksMy 
dsanz ds :i eas ukfer fd;k gSA

	 2.	 Hkkjr dks vc ikfdLrku] fo;ruke] Jhyadk] 
E;k¡ekj vkSj FkkbZySaM eas ck<+ dh vfxze psrkouh 
tkjh djus gsrq ,d vuqdwfyr ekWMy fodflr 
djuk gksxkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa  	 (d)	 u rks 1 vkSj u gh 2
	 92.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 caxyq: fLFkr fFkad VSad ifCyd visQ;j lsaVj 
}kjk gky eas ^'kklu dh xq.koÙkk ij lwpdkad* 
tkjh fd;k x;k gSA

	 2.	 o"kZ 2016 ls izfro"kZ tkjh gksus okyk ;g lwpdkad 
vk¡dM+ksa ij vkèkkfjr ,d ra=k ds ekè;e ls jkT;ksa 
dh 'kklukRed xq.koÙkk izn'kZu dh tk¡p djrk gSA

	 3.	 bl lwpdkad esa dsjy us lcls vPNs 'kkflr cM+s 
jkT;ksa dh lwph esa igyh ckj 'kh"kZ LFkku izkIr 
fd;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2
	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3

	 (d)	 1, 2 vkSj 3
	 93.	^vle le>kSrk* ds lanHkZ eas fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 15 vxLr] 2000 dks nwljs laxBuksa lfgr vf[ky 
vle Nk=k la?k ,oa Hkkjr ljdkj ds chp ;g 
le>kSrk gqvk FkkA

	 2.	 blds vuqlkj 25 ekpZ] 1971 ds ckn vle esa 
izos'k djus okyksa dks igpkudj jkT; ls ckgj 
fd;k tkuk FkkA

	 3.	 blds rgr 1961 ls 1971 ds chp vle vkus 
okyksa dks erkf/dkj o ukxfjdrk o lfgr vU; 
lHkh vfèkdkj fn;s x, FksA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 91.	 Consider the following statements:
	 1. 	World Meteorological organization 

has designated India as a nodal centre 
for carrying out the work related to the 
forecasting of flash flood.

	 2.	 Now India will have to develop a customized 
model to issue advance warning system 
related to floods for Pakistan, Vietnam, Sri 
Lanka, Myanmar and Thailand.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 92.	 Consider the following statements:
	 1. 	Recently, the Bangalore-based think tank 

"Public Affair Centre" has issued an Index 
on "The Quality of Governance".

	 2. 	The annually released Index examines the 
quality of performance of the State through 
a systematic mechanism based on data, 
from year 2016.

	 3. 	Kerala has secured the top position for 
the first time in this index among the best 
governed states.

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 and 2 only
	 (b)	 3 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3

	 93.	 Consider the following statements in the context 
of 'Assam Accord':

	 1.	 This agreement was signed between the All 
Assam Students Union and the Government 
of India along with other organizations on 
August 15th, 2000.

	 2. 	According to this, those who have entered 
Assam after March 25, 1971 were to be 
identified and deported from the state.

	 3. 	Under this, all rights including franchise 
and citizenship were to be given to those 
who came to Assam between 1961 to 1971.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 94.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 gky esa gfjoa'k ukjk;.k flag jkT;lHkk ds u, 

milHkkifr fuokZfpr gq, gSaA

	 2.	 jkT;lHkk ds lHkkifr vkSj milHkkifr ds in dk 

mYys[k lafoèkku ds vuqPNsn 89 esa fd;k x;k gSA

	 3.	 jkT;lHkk dh lnL;rk lekIr gks tkus ;k dk;kZy; 

ls bLrhiQk nsus ;k in ls gVk, tkus ij jkT;lHkk  

ds milHkkifr dk in fjDr gks tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 95.	^jk"Vªh; vkink ekspu cy* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 o"kZ 2010 esa xfBr fd;k x;k ;g ,d fo'ks"kK 

ny gSA  

	 2.	 blds xBu dk mn~ns'; izkÑfrd vkSj ekuoÑr 

vkink ;k [krjs dh fLFkfr dk lkeuk djus ds 

fy;s fo'ks"k iz;kl djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 96.	^fnYyh okrkZ ,Dl (fnYyh Mk;ykWx ,Dl)* ds lanHkZ 

eas fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 blds 10osa laLdj.k dk vk;kstu gky esa Hkkjr 

}kjk ubZ fnYyh eas fd;k x;kA

	 2.	 bl dk;ZØe dk fo"k; ^Hkkjr&vkfl;ku leqnzh 

lg;ksx dks lqn`<+ cukuk* FkkA

	 3.	 ;g Hkkjr vkSj vkfl;ku ds chp jktuhfrd&lqj{kk] 

vkfFkZd vkSj lkekftd&lkaLÑfrd Hkkxhnkjh ij 

ppkZ djus ds fy;s ,d izeq[k okf"kZd VªSd 1-5 

dk;ZØe gSA

	 4-	 bldk vk;kstu Hkkjr ljdkj ds fons'k ea=kky; 

}kjk fodkl'khy ns'kksa ds fy;s vuqlaèkku vkSj 

lwpuk iz.kkyh (vkjvkbZ,l) ds lg;ksx ls fd;k 

x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	

	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	

	 (d)	 1, 2, 3 vkSj 4

	 94.	 Consider the following statements:
	 1. 	Harivansh Narayan Singh has been elected 

as the Deputy Chairman of the Rajya Sabha 
recently.

	 2. 	The office of Chairman and Deputy 
Chairman of Rajya Sabha has been 
mentioned in Article 89 of the Constitution.

        	 3.	 The office of Deputy Chairman of Rajya 
Sabha becomes vacant in case of the expiry 
of the membership or resignation from 
office or removal from office.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 95.	 Consider the following statements in the context 
of 'National Disaster Redressal Force':

	 1. 	It is an expert team constituted in the year 
2010.

	 2. 	It is constituted for the purpose of making 
special efforts to face the situation of natural 
and manmade disasters or threats.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 96.	 Consider the following statements in the context 
of 'Delhi Dialogue X':

	 1. 	Its 10th edition was recently organized by 
India in New Delhi.

	 2. 	The theme for this event was “Strengthening 
India-ASEAN Maritime Cooperation”.

	 3. 	It is a major annual track 1.5 program to 
discuss political-security, economic and 
socio-cultural partnership between India 
and ASEAN.

	  4. 	It was hosted by the Ministry of External 
Affairs in collaboration with Research and 
Information Systems (RIS) for developing 
countries.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	
	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	
	 (d)	 1, 2, 3 and 4
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	 97.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vksfM'kk tutkrh; ,Vyl rS;kj djus okyk Hkkjr 
dk izFke jkT; gSA

	 2.	 bl ,Vyl esa tutkrh; vkcknh dh tulkaf[;dh; 
vkSj lkaLÑfrd xfrfofèk;ks a dh tkudkjh 
ladfyr gSA

	 3.	 tux.kuk&2011 ds vuqlkj vksfM'kk Hkkjr esa 
lokZfèkd tutkrh; vkcknh okyk jkT; gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	 98.	^izkstsDV ekSle* ds lanHkZ eas fuEufyf[kr dFkuksa eas ls 

dkSu&lk@ls lgh gS@gSa\

	 1.	 ;g Hkkjrh; laLÑfr ea=kky; dh ,d ifj;kstuk gSA

	 2.	 bl ifj;kstuk dk eq[; mn~ns'; cgqvk;keh fgan 
egklkxj ds laacaèk eas iqjkrÙo ,oa ,sfrgkfld 
Lrj dk vuqlaèkku djuk gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 99.	^dkfdZMkdk okoq ckyh* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g dsjy esa fganqvksa }kjk vius e`r iwoZtksa dk 
lEeku djus ds fy;s fd;k tkus okyk ,d 
vuq"Bku gSA

	 2.	 ;g izR;sd nks o"kZ eas ,d ckj dkjfdnkde ;kuh 
tqykbZ ls vxLr ds chp vekoL;k ds fnu 
vk;ksftr fd;k tkus okyk vuq"Bku gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	100.	^uhyfxfj ekmaVsu jsyos* ds lanHkZ eas fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bls gky eas ;wusLdks dh fo'o èkjksgj LFkyksa dh 
lwph esa 'kkfey fd;k x;k gSA

	 2.	 ;g dsjy esa fLFkr Hkkjr ds izeq[k ik¡p igkM+h 
jsyos esa ls ,d gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	

	 (d)	 u rks 1 vkSj u gh 2

	 97.	 Consider the following statements:
	 1. 	Odisha is the first state in India to prepare 

Tribal Atlas.
	 2. 	The information about the demographic 

and cultural activities of tribal population is 
compiled, in the Atlas.

	 3. 	According to Census-2011, Odisha is the 
state with the largest tribal population in 
India.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only
	 (b)	 1 and 3 only
	 (c)	 2 only
	 (d)	 1, 2 and 3

	 98.	 Which of the following statements is/are correct 
in context of 'Project Mausam'?

	 1. 	It is a project of Ministry of Culture of India.
	 2. 	The main objective of this project is to 

research archaeological and historical layers 
of multi-faceted Indian Ocean.

         Code:
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 99.	 Consider the following statements in the context 
of 'Karkidaka Vavu Bali':

	 1. 	This is a ritual performed by Hindus in 
Kerala for the departed souls of ancestors.

	 2. 	It is a ritual to be organized in every two 
year on the day of Amavasya between 
Karkidakam i.e. July to August.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	100.	 Consider the following statements in the context 
of 'Nilgiri Mountain Railway':

	 1. 	It has recently been included in UNESCO 
World Heritage Site list.

	 2. 	Located in Kerala, it is one among the 
five major mountainous railways of India, 
which is.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2	
	 (d)	 Neither 1 nor 2


